

Let us try to generalize it. Consider the simple rational function:

$$f(x) = \frac{a_m x^m + a_{m-1} x^{m-1} + \dots + a_1 x + a_0}{b_n x^n + b_{n-1} x^{n-1} + \dots + b_1 x + b_0} = \frac{A(x)}{B(x)}$$

Here, the numerator and denominator are predefined, with $b_n \neq 0$ and $b_0 \neq 0$.

The calculations so far considered $x = 0$, and generalization implies finding the expansion centered on $x = \alpha$. This generalization is transformed into a division between the terms

$(a_n, a'_{n-1}, \dots, a'_0)$ and $(b_n, b'_{n-1}, \dots, b'_0)$, and in this case it is sufficient to consider $x = 0$.

$$f(x) = \frac{a_m x^m + a_{m-1} x^{m-1} + \dots + a_1 x + a_0}{b_n x^n + b_{n-1} x^{n-1} + \dots + b_1 x + b_0} = \frac{a_m (x-\alpha)^m + a'_{m-1} (x-\alpha)^{m-1} + \dots + a'_1 (x-\alpha) + a'_0}{b_n (x-\alpha)^n + b'_{n-1} (x-\alpha)^{n-1} + \dots + b'_1 (x-\alpha) + b'_0}$$

For $m > n$, it is possible to perform the following transformation:

$$\begin{aligned} f(x) &= \frac{a_m x^m + a_{m-1} x^{m-1} + \dots + a_1 x + a_0}{b_n x^n + b_{n-1} x^{n-1} + \dots + b_1 x + b_0} \\ &= \frac{a_m}{b_n} x^{m-n} + a''_{m-n-1} x^{m-n-1} + \dots + a''_{n+1} x^{n+1} + \frac{a''_n x^n + a''_{n-1} x^{n-1} + \dots + a''_1 x + a''_0}{b_n x^n + b_{n-1} x^{n-1} + \dots + b_1 x + b_0} \end{aligned}$$

To verify the possibility of performing series expansion, it is sufficient to consider just the series expansion of

$$\frac{a''_n x^n + a''_{n-1} x^{n-1} + \dots + a''_1 x + a''_0}{b_n x^n + b_{n-1} x^{n-1} + \dots + b_1 x + b_0}$$

The proof for $m = n$ is sufficient.

For $m < n$, the equation can be reconstructed considering $a_n, a_{n-1}, \dots, a_{m+1} = 0$, and the proof for the case of $m = n$ is sufficient.

$$c_0 = \frac{a_0}{b_0}$$

$$d_{1,i} = c_0 b_i (1 \leq i \leq n)$$

$$a_{1,i} = a_i - d_{1,i} (1 \leq i \leq n)$$

$$\begin{array}{cccccc} & & & & c_0 & \\ & & & & \hline a_n & \dots & a_2 & a_1 & a_0 & \left(\begin{array}{cccc} b_n & \dots & b_1 & b_0 \end{array} \right. \\ d_{1,n} & \dots & d_{1,2} & d_{1,1} & a_0 & \\ \hline a_{1,n} & \dots & a_{1,2} & a_{1,1} & 0 & \end{array}$$

As a result of this calculation, we obtain:

$$A(x) = c_0 B(x) + a_{1,n} x^n + \dots + a_{1,1} x$$

$$\begin{aligned}
c_1 &= \frac{a_{1,1}}{b_0} \\
&= \frac{a_1 - c_0 b_1}{b_0} \\
&= \frac{a_1 b_0 - a_0 b_1}{b_0^2}
\end{aligned}$$

$$\begin{array}{r}
\begin{array}{cccccc}
& & & c_1 & c_0 & \\
\hline
a_n & \cdots & a_2 & a_1 & a_0 & \\
d_{1,n} & \cdots & d_{1,2} & d_{1,1} & a_0 & \\
\hline
a_{1,n} & \cdots & a_{1,2} & a_{1,1} & 0 & \\
d_{2,n} & d_{2,n-1} & \cdots & d_{2,1} & a_{1,1} & \\
\hline
a_{2,n} & \cdots & a_{2,2} & a_{2,1} & 0 &
\end{array}
\left(\begin{array}{cccc}
b_n & \cdots & b_1 & b_0
\end{array} \right)
\end{array}$$

$$d_{2,i} = c_1 b_i (1 \leq i \leq n)$$

$$a_{2,i} = a_{1,i+1} - d_{2,i} (1 \leq i < n)$$

$$a_{2,n} = -d_{2,n}$$

As a result of this calculation, we obtain:

$$A(x) = (c_0 + c_1 x)B(x) + a_{2,n}x^{n+1} + \cdots + a_{2,1}x^2$$

$$\begin{array}{r}
\begin{array}{cccccc}
& & & c_2 & c_1 & c_0 \\
\hline
a_n & \cdots & a_2 & a_1 & a_0 & \\
d_{1,n} & \cdots & d_{1,2} & d_{1,1} & a_0 & \\
\hline
a_{1,n} & \cdots & a_{1,2} & a_{1,1} & 0 & \\
d_{2,n} & d_{2,n-1} & \cdots & d_{2,1} & a_{1,1} & \\
\hline
a_{2,n} & \cdots & a_{2,2} & a_{2,1} & 0 & \\
d_{3,n} & d_{3,n-1} & \cdots & d_{3,1} & a_{2,1} & \\
\hline
a_{3,n} & \cdots & a_{3,2} & a_{3,1} & 0 &
\end{array}
\left(\begin{array}{cccc}
b_n & \cdots & b_1 & b_0
\end{array} \right)
\end{array}$$

Continuing this calculation yields, for $k > 1$:

$$A(x) = (c_0 + c_1 x + \cdots + c_k x^k)B(x) + a_{k+1,n}x^{n+k} + \cdots + a_{k+1,1}x^{k+1}.$$

generalizing x to complex numbers and considering that no x exists satisfying $B(x) \neq 0$, we have:

$$\frac{A(x)}{B(x)} = c_0 + c_1 x + \cdots + c_k x^k + \frac{a_{k+1,n}x^{n+k} + \cdots + a_{k+1,1}x^{k+1}}{B(x)} \dots$$

Consider the n solutions that satisfy $B(x) = 0$ as $\beta_1, \beta_2, \dots, \beta_n$, and

$$r = \min_{1 \leq i \leq n} |\beta_i|.$$

If $|x| < r$, $\frac{A(x)}{B(x)}$ is differentiable and can be expanded in a Taylor expansion, and an ξ ($|\xi| < r$)

exists satisfying

$$f(x) = \frac{A(x)}{B(x)} = f(0) + f^{(1)}(0)x + \dots + \frac{f^{(k-1)}(0)}{(k-1)!}x^{k-1} + \frac{f^{(k)}(\xi)}{k!}x^k \cdot \dots \cdot$$

Here, we attempt to prove that is equivalent to by mathematical induction:

$$f(0) = \frac{A(0)}{B(0)} = \frac{a_0}{b_0} = c_0$$

$$f^{(1)}(0) = \frac{A^{(1)}(0)B(0) - A(0)B^{(1)}(0)}{B(0)^2} = \frac{a_1b_0 - a_0b_1}{b_0^2} = c_1$$

Therefore, is equivalent to for $i = 0, 1$.

Suppose that is equivalent to for $k = i$.

$$f(x) = \frac{A(x)}{B(x)} = c_0 + c_1x + \dots + c_i x^i + \frac{a_{i+1,n}x^{n+i} + \dots + a_{i+1,1}x^{i+1}}{B(x)}$$

$$f^{(i+1)}(x) = \left(c_0 + c_1x + \dots + c_i x^i + \frac{a_{i+1,n}x^{n+i} + \dots + a_{i+1,1}x^{i+1}}{B(x)} \right)^{(i+1)}$$

$$= \left(x^{i+1} \frac{a_{i+1,n}x^{n-1} + \dots + a_{i+1,1}}{B(x)} \right)^{(i+1)}$$

$$= (i+1)! \frac{a_{i+1,n}x^{n-1} + \dots + a_{i+1,1}}{B(x)} + {}_{i+1}C_1 (i+1)! x \left(\frac{a_{i+1,n}x^{n-1} + \dots + a_{i+1,1}}{B(x)} \right)^{(1)}$$

$$+ \dots + x^{i+1} \left(\frac{a_{i+1,n}x^{n-1} + \dots + a_{i+1,1}}{B(x)} \right)^{(i+1)}$$

Therefore, we have:

$$\frac{f^{(i+1)}(0)}{(i+1)!} = \frac{a_{i+1,1}}{b_0}$$

This equation is equivalent to a division between algebraic equations. In other words, for $k = i + 1$,

is equivalent to .

Next, the calculation below is carried out rightwards.

$$\begin{array}{r}
 \phantom{a_{n-1}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 b_n \dots b_1 b_0 \phantom{a_{n-1}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 a_n \phantom{a_{n-1}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 a_n \phantom{a_{n-1}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 0 \phantom{a_{n-1}} \phantom{a_{n-2}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 a'_{1,n-1} \phantom{a_{n-2}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 0 \phantom{a_{n-2}} \phantom{a_{n-3}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 a'_{2,n-2} \phantom{a_{n-3}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 0 \phantom{a_{n-3}} \phantom{a_{n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 a'_{3,n-3} \phantom{a_{n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 0 \phantom{a_{n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 a'_{3,n-3} \phantom{a_{n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 \hline
 0 \phantom{a_{n-3}} \phantom{a'_{3,n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}} \\
 0 \phantom{a_{n-3}} \phantom{a'_{3,n-4}} \phantom{c'_{-1}} \phantom{c'_{-2}}
 \end{array}$$

$$A(x) = c'_0 B(x) + \frac{a'_{1,n-1}}{x^{1-n}} + \dots + a'_{1,0}$$

$$A(x) = \left(c'_0 + \frac{c'_{-1}}{x} \right) B(x) + \frac{a'_{2,n-2}}{x^{2-n}} + \dots + \frac{a'_{2,-1}}{x}$$

Considering $k > 1$, we have:

$$A(x) = \left(c'_0 + \frac{c'_{-1}}{x} + \dots + \frac{c'_{-k}}{x^k} \right) B(x) + \frac{a'_{k+1,n-k-1}}{x^{k+1-n}} + \dots + \frac{a'_{k+1,-k}}{x^k}$$

$$R = \max_{1 \leq i \leq n} |\beta_i|.$$

If $|x| > R$, since $B(x) \neq 0$, we have:

$$\frac{A(x)}{B(x)} = c'_0 + \frac{c'_{-1}}{x} + \dots + \frac{c'_{-k}}{x^k} + \frac{\frac{a'_{k+1,n-k-1}}{x^{k+1-n}} + \dots + \frac{a'_{k+1,-k}}{x^k}}{B(x)} \dots$$

If $|x| > R$, then $\frac{A(x)}{B(x)}$ is a regular function that can be expanded into a Laurent expansion. In

addition, must coincide with the Laurent expansion.

$$\text{Let } x = \frac{1}{X}.$$

If $|X| < \frac{1}{R}$, $A\left(\frac{1}{X}\right) / B\left(\frac{1}{X}\right)$ is differentiable and can be expanded into a Taylor expansion. The

Taylor expansion of $A\left(\frac{1}{X}\right)/B\left(\frac{1}{X}\right)$ coincides with the division $A\left(\frac{1}{X}\right)/B\left(\frac{1}{X}\right)$ leftwards.

Reverting using $x = \frac{1}{X}$ should coincide with the Laurent expansion.

Considering

$$A'(X) = X^n A\left(\frac{1}{X}\right)$$

$$B'(X) = X^n B\left(\frac{1}{X}\right)$$

we calculate

$$\frac{A'(X)}{B'(X)} = \frac{a_n + \dots + a_1 X^{n-1} + a_0 X^n}{b_n + \dots + b_1 X^{n-1} + b_0 X^n}$$

to the leftward direction.

$$\begin{array}{r} \begin{array}{cccc} & & c'_{-2} & c'_{-1} & c'_0 \\ & & a_0 & \dots & a_{n-1} & a_n \end{array} \left(\begin{array}{c} b_0 \\ b_1 \\ \dots \\ b_n \end{array} \right) \\ \hline \begin{array}{cccc} d'_{1,0} & \dots & d'_{1,n-1} & a_n \\ a'_{1,0} & \dots & a'_{1,n-1} & 0 \end{array} \\ \hline \begin{array}{cccc} d'_{2,-1} & \dots & d'_{2,n-2} & a'_{1,n-1} \\ a'_{2,-1} & \dots & a'_{2,n-2} & 0 \end{array} \\ \hline \begin{array}{cccc} d'_{3,-2} & \dots & d'_{3,n-3} & a'_{2,n-2} \\ a'_{3,-2} & \dots & a'_{3,n-3} & 0 \end{array} \end{array}$$

$$A'(X) = c'_0 B'(X) + a'_{1,0} X^n + \dots + a'_{1,n-1} X$$

$$A'(X) = (c'_0 + c'_{-1} X) B'(X) + a'_{2,-1} X^{n+1} + \dots + a'_{2,n-2} X^2$$

Considering $k > 1$,

$$A'(X) = (c'_0 + c'_{-1} X + \dots + c'_{-k} X^k) B'(X) + a'_{k+1,-k} X^{n+k} + \dots + a'_{k+1,n-k-1} X^{k+1}$$

$$X^n A\left(\frac{1}{X}\right) = (c'_0 + c'_{-1} X + \dots + c'_{-k} X^k) X^n B\left(\frac{1}{X}\right) + a'_{k+1,-k} X^{n+k} + \dots + a'_{k+1,n-k-1} X^{k+1}$$

$$A\left(\frac{1}{X}\right) = (c'_0 + c'_{-1} X + \dots + c'_{-k} X^k) B\left(\frac{1}{X}\right) + a'_{k+1,-k} X^k + \dots + a'_{k+1,n-k-1} X^{k+1-n}$$

Reverting $x = \frac{1}{X}$, it becomes

$$\frac{A(x)}{B(x)} = c'_0 + \frac{c'_{-1}}{x} + \dots + \frac{c'_{-k}}{x^k} + \frac{a'_{k+1,-k} + \dots + a'_{k+1,n-k-1}}{B(x) x^{k+1-n}},$$

which coincides with the Laurent expansion.